SPECIALINSERT, COMMITS ITSELF TO CONTINUOUSLY IMPROVE ITS =+
PRODUCTS. IT RESERVES THE RIGHT TO CHANGE THEIR TECHNICAL
OF THESE DOCUMENTS, AS WELL AS ITS DISTRIBUTION TO THIRD PARTIES,

AND STRUCTURAL CHARACTERISTICS WITHOUT PRIOR NOTICE.
ALL RIGHTS ARE RESERVED AND THE DUPLICATE, EVEN PARTIAL,

+

DI02

ARE FORBIDDEN, UNLESS OTHERWISE AND EXPRESSLY AUTHORIZED BY SPECIALINSERT.

* L]
1specialinsent DOWEL-INSERT Series mefric
Application:  on prepared material with fhreaded seat.
Dowels are pressed info the receiving Dowel(*)
material fo prevent unscrewing of fthe
inserft. I
Assembly: by manual or machine fools. ~ /
Dowels are inserted by pressure. [ o
- 1 /
(*) n°2 dowels for bushing up to M6 L d3
n°4 dowels for bushing over Mé. - -
— Product features Installation Disassembly
£~
2
- de hole
n code co d1 . d3
T ; article d2 preparafion [chamfer
& article ctainless Standard 6 L +0,25 hole depth
a steel 6H depth
N steel @ |tolerance -0 6H I'?Tlljﬂ
(W]
"= | 9100005080 | 9110005080 | M5X0,8 |M8X1,25(8,0 | 69 | V%2 | 825 |M8X125] 95 5,50 4,00
= ,
| 9100006100 | 9110006100 | M6X10 |M10X1,25[10.0 | 88 | ‘grpg | 1025 M 10X125| 115 7,50 4,75
9100008125 | 9110008125 | M 8x1,25 0100
M12X1,25(12,0| 10,8 | “pozs | 12,25 |M12X1,25[ 135 9,50 4,75
9100008100 | 9110008100 M 8x1,0 ' =
9100010150 | 9110010150 | M 10x1,5 0130 E
MALX15 [16,0 [ 12,8 | ‘5o | 14,25 [ M14X15 15,5 11,50 4,75 c
9100010125 | 9110010125 | M 10x1,25 ' .
9100012175 | 9110012175 | M 12x1,75 0.130 g
MI6X1,5 16,0 | 16,75 | oo | 16,25 | M16X1,5 17,5 13,50 4,75 %
9100012125 | 9110012125 | M 12x1,25 ' 8
a
>
a
Product features Installation Disassembly -
o (%)
a [
C hole 2
code 0 )
2 atr?:j(’fe article d 42 | | preparation |chamfer @ ) denth c
c fool stainless Stapdard 6g +0,25 hole ep GEJ
< stee steel -0 depth =
[ @ |tolerance 6H min. S
%]
U [ 9200004070 | 9210004070 | M &X0,7 |M8X125|8,0 | 69 | ‘Jg%e | 825 [M8X125| 95 5,50 4,00 =
—
@ | 9200005080 | 9210005080 | M5X0,8 |M10X125[10,0| 8,8 | ‘998 | 10,25 |M10X1,25| 125 7,50 4,75 =
i)
.= 9200006100 | 9210006100 | M 6X1,0 (M 12X1,25(12,0| 10,8 fgégg 12,25 |M12X1,25] 14,5 9,50 415 -
= ,
"q__, 9200008125 | 9210008125 | M 8X1,25 0130 o ZO
> MILX15 [ 16,0 128 | 992 | 14,25 |M1LX15] 16,5 150 | 4,75 =
9200008100 | 9210008100 [ M 8X1,0 ' = ‘;
9200010150 | 9210010150 | M 10X1,5 0130 % g
M16X1,5 | 16,0 [ 14,75 “yos | 16,25 | M 16X1,5 18,5 13,50 415 c o
9200010125 | 9210010125 | M 10X1,25 ' o v
9200012175 | 9210012175 | M 12X1,75 0130 g
M 18X15 (18,0 16,75 | “poz5 | 18,25 | M 18X15 20,5 15,50 4,15
9200012125 | 9210012125 | M 12x1,25 ' $
9200014200 | 9210014200 | M 14X2,0 0.130 &
M 20X15(20,0(18,75| “po25 | 20,25 |M20X15 22,5 17,50 4,75 -+
9200014150 | 9210014150 | M 14X15 ' o
[
9200016200 | 9210016200 [ M 16X2,0 0130 o
M 22X15(22,0| 205 | 0032 | 22,25 |M22X15| 245 17,75 | 6,35 n
9200016150 | 9210016150 | M 16X1,5 ' E
9200018150 | 9210018150 | M 18X15 [M24X15(24,0| 225 | 032 | 24,25 [M26X15| 265 19,75 | 6,35 2
, - g
9200020250 | 9210020250 | M 20X2,5 0130 % n
M30%2,0(30,0( 28,0 | ‘353 | 30,25 |M30X2.0| 345 2575 | 6,35 - 2
9200020150 | 9210020150 [ M 20X1,5 ' % @
—
9200022150 | 9210022150 | M 22X1,5 |M 32X2,0|32,0] 30,0 | *§020 | 32,25 [M32x2,0| 365 2175 | 6,35 =
9200024300 | 9210024300 | M 24X3,0 0130 <
M33X2,0133,0| 31,0 | “yo3s | 33,25 [M33X2,0| 375 28,75 6,35 =
9200024200 | 9210024200 | M 24X2,0 ' —‘(5
® Py Headquarter and Export department:
, Via Monfalcone 144 - 10136 - Turin - IT - Tel. +39.011.700301 - Fax +39.011.702947
CCIARINSCAN Jicrirncr
Via E.Cialdini 37 - 20161 - Milan - IT - Tel. +39.02.646.8476 - Fax +39.02.662.00275
Production and purchase departments:
www.specialinsert.it - export@specialinsert.it Via E. Pavanello 1 - 30030 - Maerne di Martellago (Venice) - IT - Tel. +39.041.503.0100
Fax +39.041.503.0110

Page 1/2

(ONT'D ==



1specialinsent DOWEL-INSERT Series metric

Maferial: steel 910 e 920
stainless steel AISI 303 9N e 921

Finishing: dowel-insert steel: phosphating
dowel-insert stainless steel: passivation

Thread: dlinfernal standard mefric

Example:

dowel bushing-insert mefric series light
M6 thread, stainless steel: 9110006100

Tool laying
Series light Series reinforced
Product features Product features
tool tool . tool tool
code laying laying code code laying laying
acrt?idje article punch complete article article punch complete
teel stainless steol stainless
stee steel steel
9100005080 | 9110005080 911 0050.00 915 0050.00 9200004070 | 9210004070 921 0040.00 925 0040.00
9100006100 | 9110006100 911 0060.00 915 0060.00 9200005080 | 9210005080 9210050.00 925 0050.00
9100008125 | 9110008125 911 0080.00 915 0080.00 9200006100 | 9210006100 9210060.00 925 0060.00
' ’ 9200008125 | 9210008125
9100008100 | 9110008100 9710080.00 975 0080.00
9100010150 9110010150 911 0100.00 518 100,00 9200008100 | 9210008100
' ' 5200010150 | 9210010150
9100010125 9110010125 921 010000 975 0100.00
9100012175 9110012175 911 0120.00 915 0120.00 9200010125 | 9210010125
' ' 9200012175 | 9210012175
9100012125 9110012125 921 0120 00 975 0120.00

9200012125 | 9210012125
9200014200 | 9210014200
9200014150 | 9210014150
9200016200 | 9210016200
9200016150 | 9210016150
9200018150 | 9210018150 9210180.00 925 0180.00
9200020250 | 9210020250
9200020150 | 9210020150
9200022150 | 9210022150 9210220.00 925 0220.00
9200024300 | 9210024300
9200024200 | 9210024200

9210140.00 925 0140.00

9210160.00 925 0160.00

9210200.00 925 0200.00

9210240.00 925 0240.00

Assembly instructions:
1) drill hole according to the reference table, countersunk 90-100°
2) tap with standard tool

3) install the bush by manual or machine tool

L) insert the dowels by proper fools or punch

5) the bush is properly installed

L Lo

Headquarter and Export department:

- M Via Monfalcone 144 - 10136 - Turin - IT - Tel. +39.011.700301 - Fax +39.011.702947
,Pc c I q In’e p Milan branch:

Via E.Cialdini 37 - 20161 - Milan - IT - Tel. +39.02.646.8476 - Fax +39.02.662.00275
o . o . Production and purchase departments:

www.specialinsert.it - export@specialinsert.it g E. Pavanelio 1 - 30030 - Maerne di Martellago (Venice) - IT - Tel. +39.041.503.0100

Fax +39.041.503.0110 DI02

OF THESE DOCUMENTS, AS WELL AS ITS DISTRIBUTION TO THIRD PARTIES,
ARE FORBIDDEN, UNLESS OTHERWISE AND EXPRESSLY AUTHORIZED BY SPECIALINSERT.

PRODUCTS. IT RESERVES THE RIGHT TO CHANGE THEIR TECHNICAL
AND STRUCTURAL CHARACTERISTICS WITHOUT PRIOR NOTICE.

SPECIALINSERT, COMMITS ITSELF TO CONTINUOUSLY IMPROVE ITS
ALL RIGHTS ARE RESERVED AND THE DUPLICATE, EVEN PARTIAL,

Page 2/2



	maggio2015pagina1ing
	Vista del disegno22
	Vista del disegno23
	Vista del disegno24
	Vista del disegno25

	maggio2015pagina2ing
	Vista del disegno26
	Vista del disegno27
	Vista del disegno28
	Vista del disegno29


